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EE331 = Final Review

Determine the power delivered by the current source inthe cireuit depicied below:
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2. Determiie the runge of 17, the cireait below that will cause the ideal diode w be on
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3 Caleulate and drass the Thevenin equivalent cirewmt seen by Ky jm the tollowing cireuit.
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4. When an armature voltage of 24% 5 is applied 10 a loaded permanent magnet T motor with
R, =080 and K, - D 15392V, it sping at [ 200mpm.

2. Determine the loss torque. 7y, . if this motor is 70%a efficient at this speed.
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3

B I anoextemnal resistunce of 080 were placed inseries wath the ammaure (8, with the
same freand T, what swonihd be the new speed and efliciency?
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Find the vilue of & that will result in a wetal steady-state stored energy ol 10J i the tollowing
DC careuit
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6. Consider the [olluaang linear DO moter where B = 131 and the mass of the projectile 15 1ke
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¢.  How mueh current woukd be required 11 vou washed to shorten the launch time to 035
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7. Find Fypand i i the op=amp circait below.
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8. Criven the following sinusoidal waveloms;
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b. What capacitance 1n parallel with the loads ts required 1o raise the power factor 1o 195
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1. Determine thcﬂ'umgu puosver comstmiad by he oad:
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12. Given the fallowing 3-phase sestem
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